
XZQ[���
30B ��

��

�����>����Æ�}L³�

M÷áN~�，?OPHQR�

S
TU~�，VWXY7E >Z[\]

Ë^Ï¸¹

◆
◆
◆
◆

����

2 3， " ，_Æ�

4 5 6 7， ， ， "`a�

0.05 0.09： 0.16 0.19¾"¿ > > >" " " "

0.19" ( 2 )¾"¿： � "

0.28 0.41：¾"¿ >" "

3000

2500

2000

0 100 300-65

0

500

1000

-54 -18 38 148

0

34

69

103

138

1500

172

207

3500 241
93

200

4 5 "， "� ¾"¿：0.41

6 7， "� ¾"¿： " "0.05 0.06>

0

-54

3000

2500

2000

300100-65

0

500

1000

-18 38 148

0

34

69

103

138

1500

172

207

3500 241
93

200

4 5"� ¾"¿：0.06"，

9 10

789:

1

CF8M

CF8

CF3M

CF3

SS

S4

S6L

S4L

2

13B 13B ����

3 ©­ÁÂ

YT

NT

PT

PP

PPG

PPR

MS

BW

SW

ØÙ©

ÛÙ©

5

6 ¾"¿

0 39"(10.0mm).10

0 59"(15.0mm).

0 79"(20.0mm).

15

20

0 98"(25 0mm). .

1 26"(32.0mm).

1 50"(38.0mm).

25

32

38

1.97"(50 0mm).

2.50"(63.5mm)

2.99"(76.0mm)

50

64

76

7

��

Ý�

SS 13B - YT12M - YT8 - 10 - YC2-
1 2 3 4 5 6 7

©ª 1 ©ª 2

Þß>àá

ÌÍÎ�â�ãÞß

YC2

4

���_LM 207 bar 3000 psig： ( )◆
◆
◆
◆

Ö×� ½ äå ½1/16" 3/4" 3 mm 18 mm

?�� ， ， ， ， > "�!，`a>bcda�\
Æ�2 3 4 5 6 7

： ( )�_�µ ½ ½-54°C 148°C -65°F 300°F

◆
◆

eÂ fÒ\¢£

�
?�@?�þÿ

����|���#������_LM����◆

ÏÐÑ


Ò±ÄÎ¾±Ä，Ó�ÔÎÕ±Ä


ÒÖ×Î�Ê，Ó�ÔÎ�Ê


ÒØÙ、ÛÙ©Î Ü，Ó�ÔÎ ÜPipe Tube

F

M

P

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

1/16" 1mmäå

1/8" 2mmäå

3/16" 3mmäå

1/4" 4mmäå

5/16" 5mmäå

3/8" 6mmäå

7/16" 7mmäå

1/2" 8mmäå

9/16" 9mmäå

5/8" 10mmäå

11/16" 11mmäå

3/4" 12mmäå

13/16" 13mmäå

7/8" 14mmäå

15/16" 15mmäå

1" 16mmäå

©ªÎ�Ê±ÄÔ

8

10

12

14

16

18

20

22

24

27

30

33

M8x1

M10x1

M12x1.5

M14x1.5

M16x1.5

M18x1.5

M20x1.5

M22x1.5

M24x1.5

M27x2

M30x2

M33x2

æçè±Ä±éÔê

20x2

27x1 5.

M20x2

M27x1.5

©­Ö×

ëì±é，'：

YT-LOK Ã¤©

NPT ±Ä©

ISO ÅÆ±Ä©

ISO (G )Ç�±Ä© ®�ÈÉ

ISO Ç�±Ä© ®�ÈÉ(GE )

ISO Ç�±Ä© ®�ÈÉ(GR )

�Ê±Ä©

Ë

YT LOK 13B 1 2
1 2 P6

- ����Âíîïðñàò：Ý� �� ©ª ©ª ¾"¿。
©ª >©ª ô 。

， ， ， ， õö÷øùæîï，?úûüýþÿ。�÷ø#“-”��，
����ðñ��。	©ª >©ª 
Ñ��
�Ô，©ª 
Ñ����。2 1 2

�µ( )°F

L
M

(p
si

g
)

L
M

(b
a
r)

�µ( )°C

�µ( )°F

L
M

(p
si

g
)

L
M

(b
a
r)

�µ( )°C

YT-LOK ASTM G93
C

�)Þ*>àá，+,*-µ.� /
Ð 01U�ý2，?3#45678

YT LOK- AYT LOK-A

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO LTD.， .



��

2G�

11 12

YT LOK- AYT LOK-A

10

8

7

6

5

4

3

1

2

11

9 10

7

6

5

4

3

1

2

11

8 9

4 6， "da�

4"� ¾"¿ >：0.05" 0.06"

6 ：0.05" 0.06""� ¾"¿ >

2500

2000

3000 100-65
0

500

1000

-54 -18 38 148

0

34

69

103

138

1500

172

3000 207
93

200

4 ：0.28""� ¾"¿

'()*+�

­ghi÷øFGH

 !

316 SS

¢£

QU±j

³�±<

k�±²

lÆDm

³�®

�«

IJ7

IJn

���}

��

�­ghi÷øFGH

"#

1

2

3

4

5

6

7

8

9

10

11

]^ 400

<o R-405/B164

<o 400/B164

<o 400/B164

<o 400/B164

pqor ��300 ��Y

äå 316 SS/A276 A479，

pqor ��300 SS/B783

316 SS/A276 A479äå ，

pqor ����Y300

äå 316 SS/A276

stupv 316SS

316 SS/A276

316 SS/A182

$%

��Y

S17700/A693

PTFE/D1710

u�C>ABC

wx�yC

����

�� 360/B16

�� 360/B16

�� 377/B16

�� 360/B16

�� 360/B16

_Â

z�

21 21

!{

1 2

!{

1 2

z�

|"Â

YT LOK-

A

H
C

1

C

L

D k�} T
�

�
k

�
~

µ

YT LOK-

A

L

H
B

C

D k�}

©ª2©ª1

©ª1

©ª2

-30B-NT2F-03

-30B-NT2F-05

-30B-NT4F-05

1/8 NPT¾±Ä

1/8" YT-LOK

3/8" YT-LOK

-30B-YT2-02

-30B-YT4-05

-30B-YT6-05

6 mm YT-LOK

8 mm YT-LOK

-30B-YT6M-03

-30B-YT6M-05

-30B-YT8M-05

1/4" YT-LOK

6 mm YT-LOK

1/8 NPT¾±Ä

1/4 NPT¾±Ä

-30B-NT4-051/4 NPTÕ±Ä

-30B-PT4F-051/4 BSPT¾±Ä

-30B-YT4-031/4" YT-LOK

0.09
(2.4)

0.13
(3.2)

0.19
(4.8)

0.34
(8.6)

0.28
(7.1)

1.12
(28.4)

1.36
(34.5)

0.50

1.20

0.90

0.70

0.75

0.30
1.63

(41.4)

2.0
(50.8)

2.06
(52.3)

_G `�

Cv

A B C D H L T

0.20

1.40

1.50

2.01
(51.1)

2.39
(60.7)

2.58
(65.5)

0.15

0.90

0.20

0.60

1.40

1.50

2.01
(51.1)

2.21
(56.1)

2.39
(60.7)

2.46
(62.5)

0.15

0.35

1.20 0.75
2.00

(50.8)

0.90
2.06

(52.3)

0.60
2.21

(56.1)
0.35

19/32
(15.1)

25/32
(19.8)

1.53
(38.9)

1.47
(37.3)

1/4
(6.4)

3/16
(4.8)

0.44
(11.2)

0.38
(9.7)

__

1.0
(25.4)

1.03
(26.2)

0.81
(20.6)

C1

0.97
(24.6)

1.17
(29.7)

1.29
(32.8)

0.97
(24.6)

1.07
(27.2)

1.17
(29.7)

1.20
(30.5)

1.03
(26.2)

1.07
(27.2)

__

�µ( )°F

L
M

(p
si

g
)

L
M

(b
a
r)

�µ( )°C

�,+�-. 25/ASTM

stupv 316SS stupv<o 400

pqor ��300 SS/B783

316 SS/A276 A479äå ，

õ%Ý�&;�����äõ'(

。

T
�

�
k

�
~

µ

in. (mm)

FGI
JN78#

in. (mm)��，
?@D�E��

3 mm YT-LOK -30B-YT3M-02

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO LTD.， .



-30B-NT4F-07

-30B-YT10M-07

-30B-YT6-07

-30B-NT6F-07

-30B-PT6F-07

-30B-YT12M-10

-30B-YT8-10

-30B-YT12-10

-30B-NT8F-10

-30B-PT8F-10

1/4 NPT¾±Ä

10 mm YT-LOK

3/8" YT-LOK

3/8 NPT¾±Ä

3/8 BSPT¾±Ä

12 mm YT-LOK

3/4" YT-LOK

1/2" YT-LOK

1/2 NPT¾±Ä

1/2 BSPT¾±Ä

0.28
(7.1)

0.41
(10.3)

3.00 1.70
1.25

(31.8)

3/8

6.00
3.07

(78.0)
2.00

6.00
3.05

(77.5)
2.00

1.43
(36.3)

2.50
(63.5)

0.56
(14.2)

0.56
(14.2)

2.00
(50.8)

2.07
(52.6)

2.60 1.50

(9.5)

2.60

Cv

A B C C1 TH L

12.00

2.432.43

1.74
(44.2)

0.69
(17.5)

0.69
(17.5)

3.92
(99.6)

4.60

12.00

6.40

4.60

3.80
3/8

6.30 3.50
1.56

(39.6)

6.30
__

3.12
(79.2)

1 1/8
(28.6)

D

1 1/2
(38.1) (61.7)(61.7) (9.5)

__

__ __

1.74
(44.2)

3.48
(88.4)

1.56
(39.6)

3.13
(79.5)

0.69

(17.5)

3.00

(76.2)

2.43

(61.7)

0.56

(14.2)

1.25
(31.8)

2.50
(63.5)

2.00

(50.8)

2.07

(52.6)

0.28

(7.1) 1.70

1.50

1.50

-30B-NT4F-07-3L

-30B-NT6F-07-3L

-30B-PT6F-07-3L

2.00-30B-YT6-07-3L

1.43

(36.3)

2.89

(73.4)

-30B-YT2-02-3L

-30B-YT4-03-3L

0.35

0.90

0.80

0.30

0.75

-30B-YT6M-03-3L

-30B-YT6M-05-3L

-30B-YT8M-05-3L

-30B-NT2F-03-3L

-30B-NT4F-05-3L

-30B-PT4F-05-3L

2.00-30B-YT10M-07-3L

-30B-YT4-05-3L 0.90
0.19

(4.8)
1.17

(29.7)

2.39

(60.7)

1.03

(26.2)

2.06

(52.3)

1.53

(38.9)

1.47

(37.3)

0.44

(11.2)

1.20

(30.5)

2.46

(62.5)

1.17
(29.7)

2.39
(60.7)

0.81
(20.6)

1.63
(41.4)

1.07

(27.2)

2.21

(56.1)0.13

(3.2)

1.13
(28.7)

1.36
(34.5)

0.34

(8.6)

4.60-30B-YT12M-10-3L

4.60

4.90

-30B-YT8-10-3L

-30B-YT12-10-3L
0.41

(10.3)

3.50-30B-NT8F-10-3L

3.50-30B-PT8F-10-3L

0.15

1/4 NPT¾±Ä

3/8 NPT¾±Ä

3/8 BSPT¾±Ä

3/8" YT-LOK

1/8" YT-LOK

1/4" YT-LOK

1/4 BSPT¾±Ä

6 mm YT-LOK

8 mm YT-LOK

1/8 NPT¾±Ä

10 mm YT-LOK

1/4 NPT¾±Ä

1/4" YT-LOK

6 mm YT-LOK

12 mm YT-LOK

3/4" YT-LOK

1/2" YT-LOK

1/2 NPT¾±Ä

1/2 BSPT¾±Ä

3 mm YT-LOK -30B-YT3M-02-3L
0.97

(24.6)

2.01

(51.1)

0.09

(2.4)

Cv

A B C

3/8

(9.5)

3/8

(9.5)

3/16

(4.8)

1/4
(6.4)

TH L

1 1/2

(38.1)

1 1/8

(28.6)

25/32

(19.8)

19/32
(15.1)

D

3HL Â\�

312

3 4 5 6 7E Gcd�， ， ，

3L Â\�

312

13 14

YT LOK- AYT LOK-A

3"�

A

L

H
B

C

T
�

�
k

�
~

µ

D k�}

YT LOK-

4 5 6 7， ， > "�

_Â�&OC���í¬�� 。-A

4 5， "� 6 7， "�

A

L

H
B

C

D k�}

A

L

H
B

C

15

4 3

2

76
6

5

4 3

2
1

1

4

3

2

3

5

214

4L Â\�

©ª1

©ª3©ª2

©ª1

©ª ½ äå
©ª ½

2 4
2 5

©ª1

?@D�E��
in. (mm)

FGI
JN78#

in. (mm)��，

_G `�
?@D�E��

in. (mm)

FGI
JN78#

in. (mm)��，

T
�

�
k

�
~

µ

T
�

�
k

�
~

µ

D k�}

©ª ½ äå
©ª ½

2 6
2 7

5L Â\�

7L Â\�6L Â\�

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO LTD.， .



1/16" YT-LOK -30B-YT1-00-6C

1/8" YT-LOK

0.05
(1.3)

-30B-YT2-01-6C
0.06
(1.6)

1/16" YT-LOK -30B-YT1-00-4C

1/8" YT-LOK

0.05
(1.3)

-30B-YT2-01-4C

1/8 NPT¾±Ä -30B-NT2F-01-4C

0.06
(1.6)

1/2 NPT¾±Ä -30B-NT8F-07-4C

Cv

A B H L

0.08

0.06

0.08

0.06

1.95
(49.5)

1.55
(39.4)

D

1.60

0.08

1.55
(39.4)

1.53
(38.9)

1.68
(42.7)

0.44
(11.2)

1.95
(49.5)

29/32
(23.1)

3/16
(4.8)

T

1.53
(38.9)

1.68
(42.7)

0.44
(11.2)

29/32
(23.1)

3/16
(4.8)

3.13
(79.5)

0.69
(17.5)

1 1/2
(38.1)

3.00
(76.2)

2.43
(61.7)

3/8
(9.5)

0.28
(7.1)

4 6， Gefgd�

4C Â\�

2

5 6

3

14

41

32

15 16

YT LOK- AYT LOK-A

A

L

H

B
B

T
�

�
k

�
~

µ

D k�}

4"� 6"�

A

L

H

B

D k�}

B

Cv

A B C H L

0.07

0.07
0.06

(1.6)

0.97
(24.6)

1.94
(49.3)

0.88
(22.4)

1.55
(39.4)

0.07

0.07
0.06

(1.6)

0.97
(24.6)

1.94
(49.3)

0.88
(22.4)

1.55
(39.4)

0.07

0.05
(1.3)

0.06
(1.6)

0.05

D T

1.53

(38.9)

1.69

(42.9)

0.44

(11.2)

29/32

(23.1)

5/32

(4.1)

1.53
(38.9)

1.69
(42.9)

0.44

(11.2)

29/32

(23.1)

5/32

(4.1)

0.97

(24.6)

1.94

(49.3)

29/32

(23.1)

1.53

(38.9)

1.69

(42.9)

0.44

(11.2)

5/32

(4.1)

0.07

1/8 NPT¾±Ä

1/8" YT-LOK

1/8 NPT¾±Ä

1/8" YT-LOK

1/16" YT-LOK

1/8" YT-LOK

1/16" YT-LOK

1/8" YT-LOK
0.062
(1.6)

-30B-NT2F-03-4L

-30B-YT2-01-4L

-30B-NT2F-03-5L

-30B-YT2-01-5L

-30B-YT1-00-6L

-30B-YT2-01-6L

-30B-YT1-00-7L

-30B-YT2-01-7L

0.05
0.052
(1.3)

©ª ½1 4 ©ª ½1 6

789:

1

316 SS

304 SS

316L SS

304L SS

SS

S4

S6L

S4L

6 ¾"¿

0 05"(1.3mm).

0 06"(1.6mm).

0 09"(2.4mm).

00

01

02

0 13"(3.2mm).

0 19"(4.8mm).

0 28"(7.1mm).

03

05

07

0 41"(10.3mm).10

��

<o 400

B

M4

3

5

7

_Â

3L

3HL

4L

4C

A

5L

6L

6C

7L

3"�

3"�

4"�

4"�

5"�

6"�

6"�

7"�

8

2

30B 30B ����

SS 30B - YT4 - YT6M - 05 - A - YC2-
1 2 3 4 5 6 7 8

©ª 1 ©ª 2 7½

YC2

ÌÍÎ|"ÂË

?@D�E��
in. (mm)

FGI
JN78#

in. (mm)��，

T
�

�
k

�
~

µ

6C Â\�

in. (mm)

FGI
JN78#

in. (mm)��，

?@D�E��

Ý�

��

©­ÁÂ

YT YT-LOK Ã¤©

NT

PT

PP

PPG

PPR

MS

NPT ±Ä©

ISO ÅÆ±Ä©

ISO (G )Ç�±Ä© ®�ÈÉ

ISO Ç�±Ä© ®�ÈÉ(GE )

ISO Ç�±Ä© ®�ÈÉ(GR )

�Ê±Ä©

4

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

1/16" 1mmäå

1/8" 2mmäå

3/16" 3mmäå

1/4" 4mmäå

5/16" 5mmäå

3/8" 6mmäå

7/16" 7mmäå

1/2" 8mmäå

9/16" 9mmäå

5/8" 10mmäå

11/16" 11mmäå

3/4" 12mmäå

13/16" 13mmäå

7/8" 14mmäå

15/16" 15mmäå

1" 16mmäå

©ªÎ�Ê±ÄÔ

8

10

12

14

16

18

20

22

24

27

30

33

M8x1

M10x1

M12x1.5

M14x1.5

M16x1.5

M18x1.5

M20x1.5

M22x1.5

M24x1.5

M27x2

M30x2

M33x2

æçè±Ä±éÔê

20x2

27x1 5.

M20x2

M27x1.5

©­Ö×

ëì±é，'：

ÏÐÑ


Ò±ÄÎ¾±Ä，Ó�ÔÎÕ±Ä


ÒÖ×Î�Ê，Ó�ÔÎ�Ê


ÒØÙ、ÛÙ©Î Ü，Ó�ÔÎ ÜPipe Tube

F

M

P

Þß>àá

Ë ÌÍÎ�â�ãÞß

YT LOK 30B 1 2

1 2 P12 3 1 2 3 P13 4 5 6 7 1 7 P14 P15

- ����Âíîïðñàò：Ý�，�� ©ª ©ª ¾"¿。	����·�©ªÔ，õö©ª�îïà�O¾，
|"

Â>_Â，©ª >©ª ô 。 "�，©ª ， > ô 。 ， ， ， "�，©ª ½©ª ô ， 。

， ， ， õö÷
øùæîï，?úûüýþÿ。�÷ø#“-”��，����ðñ��。	õö©ª>©ª 
Ñ��
�Ô，õö©ª
Ñ����。1

1 YT LOK YT LOK
2 YT LOK
3

、 - 
Ò - [Ã¤©；
、
�Ö×� - Ã¤±²¢�����Ö×，��Ö×����，�Ô? !"；
、
�Âí>Ö×�Î#$，üýõ%Âí>Ö×&;�����äõ'(

。

YT-LOK ASTM G93
C

�)Þ*>àá，+,*-µ.� /
Ð 01U�ý2，?3#45678

\�ÁÂ

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO LTD.， .


